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Question Id : 92090626826 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

All over the world the wild fauna has been whittled down steadily and
remorselessly, and many lovely and interesting animals have been so reduced in
numbers that, without protection and help, they can never re-establish themselves. If
they cannot find sanctuary where they can live and breed undisturbed, their numbers
will dwindle until they join the dodo, the quagga. and the great auk on the long st of
extinct creatures.

Of course, in the last decade or so, much has been done for the protection of wild
life: sanctuaries and reserves have been started, and the reintroduction of species into
areas where it had become extinct is taking place. In Canada, for instance, beavers
are now being reintroduced into certain areas by means of aeroplane.

But although much is being done, there is still a very great deal to do.
Unfortunately, the majority of useful work in animal preservation has been done
mainly for animals which are of some economic importance to man and there are
many obscure species of no economic importance which, although they are protected
on paper, are in actual fact being allowed to die out because nobody, except a few
interested zoologists, considers them important enough to spend money on.

As mankind increases year by year, and as he spreads farther over the globe
burning and destroying, it is some small comfort to know that there are certain
private individuals and some institutions who consider that the work of trying to save
and give sanctuary to these harried animals is of some importance. It is important
for many reasons, but perhaps the best of them 1s this: man for all his genius, cannot
create a species, nor can he recreate one he has destroyed. So until we consider
animal life to be worthy of the consideration and reverence we bestow upon old books
and pictures and historic monuments, there will always be the animal refugee living
precarious life on the edge of extermination, dependent for existence on the charity of
a few human beings.

Read the passage and answer the following questions:

Sub questions

Question Number : 1 Question Id : 92090626827 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What attitude towards wild life does the author think most appropriate?

(1) reverence (2) pity
(3)  sympathy (4) fear

Options :



920906106001. 1
920906106002. 2
920906106003. 3
920906106004. 4

Question Number : 2 Question Id : 92090626828 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following animal species has been saved from extinction?

(1) dodo (2) quagga
(3) auk (4) beaver
Options :

920906106005. 1
920906106006. 2
920906106007. 3
920906106008. 4

Question Number : 3 Question Id : 92090626829 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following would prove most effective in preserving wild life?

(1) Sanctuaries (2) Law against destruction of wild life
(3) More Zoos (4) Allocation of more funds
Options :

920906106009. 1
920906106010. 2
920906106011. 3
920906106012. 4

Question Number : 4 Question Id : 92090626830 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Animals species should be preserved mainly because:

(1) they are lovely creatures.
(2)  they are killed by cruel people.
(3)  zoologist want to study them.

(4) man cannot recreate a species of animals if it be destroyed.

Options :

920906106013. 1
920906106014. 2
920906106015. 3
920906106016. 4

Question Number : 5 Question Id : 92090626831 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Certain species of wild life 1s about to become extinct mainly because:

(1)  they are killed by people callously.
(2)  sanctuaries are not maintained properly.
(3)  people are ignorant.

(4)  they cannot find a sanctuary where they can live and breed undisturbed.

Options :

920906106017. 1
920906106018. 2
920906106019. 3
920906106020. 4

Question Id : 92090626826 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



All over the world the wild fauna has been whittled down steadily and
remorselessly, and many lovely and interesting animals have been so reduced in
numbers that, without protection and help, they can never re-establish themselves. If
they cannot find sanctuary where they can live and breed undisturbed, their numbers
will dwindle until they join the dodo, the quagga. and the great auk on the long list of
extinct creatures.

Of course, in the last decade or s0, much has been done for the protection of wild
life: sanctuaries and reserves have been started, and the reintroduction of species into
areas where it had become extinet is taking place. In Canada, for instance, beavers
are now being reintroduced into certain areas by means of aeroplane.

But although much i1s being done, there 1s still a very great deal to do.
Unfortunately, the majority of useful work in animal preservation has been done
mainly for animals which are of some economic importance to man and there are
many obscure species of no economic importance which, although they are protected
on paper, are in actual fact being allowed to die out because nobody, except a few
interested zoologists, considers them important enough to spend money on.

As mankind increases year by vear, and as he spreads farther over the globe
burning and destroying, it is some small comfort to know that there are certain
private individuals and some institutions who consider that the work of trying to save
and give sanctuary to these harried animals is of some importance. It is important
for many reasons, but perhaps the best of them is this: man for all his genius, cannot
create a species, nor can he recreate one he has destroyed. So until we consider
animal life to be worthy of the consideration and reverence we bestow upon old books
and pictures and historic monuments, there will always be the animal refugee living
precarious life on the edge of extermination, dependent for existence on the charity of
a few human beings.

Read the passage and answer the following questions:

Sub questions

Question Number : 1 Question Id : 92090626827 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What attitude towards wild life does the author think most appropriate?

(1) reverence (2) pity
(3) sympathy (4) fear
Options :

920906106001. 1
920906106002. 2
920906106003. 3
920906106004. 4



Question Number : 2 Question Id : 92090626828 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following animal species has been saved from extinction?

(1) dodo (2) quagga
(3) auk {(4) beaver
Options :

920906106005. 1
920906106006. 2
920906106007. 3
920906106008. 4

Question Number : 3 Question Id : 92090626829 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following would prove most effective in preserving wild life?

(1) Sanctuaries (2) Law against destruction of wild life
(3) More Zoos (4) Allocation of more funds
Options :

920906106009. 1
920906106010. 2
920906106011. 3
920906106012. 4

Question Number : 4 Question Id : 92090626830 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Animals species should be preserved mainly because:

(1)  they are lovely ereatures.
(2)  they are killed by cruel people.
(3) zoologist want to study them.

(4) man cannot recreate a species of animals if it be destroyed.

Options :
920906106013. 1



920906106014. 2
920906106015. 3
920906106016. 4

Question Number : 5 Question Id : 92090626831 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Certain species of wild life is about to become extinct mainly because:

(1)  they are killed by people callously.

(2)  sanctuaries are not maintained properly.

(3) people are ignorant.

(4)  they cannot find a sanctuary where they can live and breed undisturbed.

Options :

920906106017. 1
920906106018. 2
920906106019. 3
920906106020. 4

Sub-Section Number : 2
Sub-Section Id : 920906863
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090626832 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct proposition from the options given to make a meaningful
sentence.

The boys equally divided the chocolates themselves.

(1) between

(2) among

(3) with
(4) by
Options :

920906106021. 1
920906106022. 2
920906106023. 3



920906106024. 4

Question Number : 6 Question Id : 92090626832 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct proposition from the options given to make a meaningful
sentence.

The boys equally divided the chocolates themselves.

(1) between

(2) among

(3) with
(4) by
Options :

920906106021. 1
920906106022. 2
920906106023. 3
920906106024. 4

Question Number : 7 Question Id : 92090626833 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct form from verb to make a meaningful sentence.
Neither of the contestants to win.

(1) is able
(2) was able
(3) were able
(4)  has able

Options :

920906106025. 1
920906106026. 2
920906106027 3
920906106028. 4

Question Number : 7 Question Id : 92090626833 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the correct form from verb to make a meaningful sentence.
Neither of the contestants to win.

(1) is able
(2) was able
(3) were ahble
(4)  has able

Options :

920906106025. 1
920906106026. 2
920906106027. 3
920906106028. 4

Question Number : 8 Question Id : 92090626834 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pick out the correctly spelt word:

(1) emberrass (2) embarress
(3 embarass (4) embarrors
Options :

920906106029. 1
920906106030. 2
920906106031. 3
920906106032. 4

Question Number : 8 Question Id : 92090626834 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pick out the correctly spelt word:

(1) emberrass (2) embarress
(3) embarass (4) embarrors
Options :

920906106029. 1
920906106030. 2
920906106031. 3
920906106032. 4



Question Number : 9 Question Id : 92090626835 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[dentify the meaning of the underlined idiom from the options given :-

Sunita is an apple of her father’s eve

(1) lovable (2) talkative
(3 uncontrollable (4) hated
Options :

920906106033. 1
920906106034 2
920906106035. 3
920906106036. 4

Question Number : 9 Question Id : 92090626835 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the meaning of the underlined idiom from the options given :-

Sunita 1s an apple of her father’s eve

(1) lovable (2) talkative
(3) uncontrollable (4) hated
Options :

920906106033. 1
920906106034. 2
920906106035. 3
920906106036. 4

Question Number : 10 Question Id : 92090626836 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the correct form of indirect speech of the following sentence.
He said. “I have been reading since morning.”

(1) He said that he had been reading since morning.
(2)  He said that he has been reading since morning.
(3) He said that he is reading since morning.

(4) He said that he was reading since morning.

Options :

920906106037. 1
920906106038. 2
920906106039. 3
920906106040. 4

Question Number : 10 Question Id : 92090626836 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct form of indirect speech of the following sentence.
He said, “I have been reading since morning.”

(1) He said that he had been reading since morning.
(2)  He said that he has been reading since morning.
(3)  He said that he is reading since morning.

(4) He said that he was reading since morning.

Options :

920906106037. 1
920906106038. 2
920906106039. 3
920906106040. 4

Question Number : 11 Question Id : 92090626837 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A triangle can have:

(1) all acute angles (2) two obtuse angles

(3) two right angles (4) one obtuse angle and one right angle



Options :

920906106041. 1
920906106042. 2
920906106043. 3
920906106044. 4

Question Number : 11 Question Id : 92090626837 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A triangle can have:

(1) all acute angles (2) two obtuse angles
(3)  two right angles (4) one obtuse angle and one right angle
Options :

920906106041. 1
920906106042. 2
920906106043. 3
920906106044. 4

Question Number : 12 Question Id : 92090626838 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the mean of 18, 19, x, 25 and 26 is 21, then find the mean of 5, 11, 13, 19 and (3x-1):

(1) 21 (2) 206
(3) 19.6 (4) 188
Options :

920906106045. 1
920906106046. 2
920906106047. 3
920906106048. 4

Question Number : 12 Question Id : 92090626838 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If the mean of 18, 19, x, 25 and 26 15 21, then find the mean of 5, 11, 13, 19 and (3x-1):

(1) 21 (2) 20.6
(3) 19.6 (4) 18.8
Options :

920906106045. 1
920906106046. 2
920906106047. 3
920906106048. 4

Question Number : 13 Question Id : 92090626839 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find a single discount equivalent to successive discounts of 10%, 20% and 25%:

(1) 55% (2) 54%
(d) 46% (4) 52%
Options :

920906106049. 1
920906106050. 2
920906106051. 3
920906106052. 4

Question Number : 13 Question Id : 92090626839 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find a single discount equivalent to successive discounts of 10%, 20% and 25%:

(1) 55% (2) 54%
(d) 46% (4) 52%
Options :

920906106049. 1
920906106050. 2
920906106051. 3
920906106052. 4

Question Number : 14 Question Id : 92090626840 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A man is walking at a speed of 6 km/h. After every km he takes rest for 6 minutes.
How much time will he take to cover a distance of 24 km.

(1) 6 h 24 min (2) 6h18 min
(3) 5h 18 min (4) 4 h 24 min
Options :

920906106053. 1
920906106054. 2
920906106055. 3
920906106056. 4

Question Number : 14 Question Id : 92090626840 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A man is walking at a speed of 6 km/h. After every km he takes rest for 6 minutes.
How much time will he take to cover a distance of 24 km.

(1) 6 h 24 min (2) 6h 18 min
(3) 5h 18 min (4) 4 h 24 min
Options :

920906106053. 1
920906106054 2
920906106055. 3
920906106056. 4

Question Number : 15 Question Id : 92090626841 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

sind+coséd 17 .
f +— = — . then find the value of (5|n4 8 —cos” E):
sind-cosd 7

12
1 119 ) —
(1) (2) 5
119 2

(3) ﬁ' (4) g

Options :



920906106057. 1
920906106058. 2
920906106059. 3
920906106060. 4

Question Number : 15 Question Id : 92090626841 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

sind+cosf 17 :
SROT PR L then find the value of (sm4 6 - cos* E):
sinf-cosé 7

12

1 119 2) —

(1) () 3

119 2

3 s ) =

(3) 169 (4) 3
Options :

920906106057. 1
920906106058. 2
920906106059. 3
920906106060. 4

Question Number : 16 Question Id : 92090626842 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify which of the given conclusions follows from the given statements:
Statement I : No perfume is a fragrance.
Some perfumes are deodorants.

All deodorants are cologne.

Statement II : . At least some perfumes are colognes.

II. No fragrance is deodorant.
(1) only conclusion I is true
(2) only conclusion II is true
(3) Both conclusion I and II are true

(4) Neither coneclusion I nor 11 is true

Options :



920906106061. 1
920906106062. 2
920906106063. 3
920906106064. 4

Question Number : 16 Question Id : 92090626842 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify which of the given conclusions follows from the given statements:
Statement I : No perfume is a fragrance.
Some perfumes are deodorants.

All deodorants are cologne.

Statement II : I. At least some perfumes are colognes.

II. No fragrance is deodorant.
(1) only conclusion I is true
(2) only conclusion II is true
(3) Both coneclusion I and II are true

(4) Neither conclusion I nor 11 is true

Options :

920906106061. 1
920906106062. 2
920906106063. 3
920906106064. 4

Question Number : 17 Question Id : 92090626843 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Read the following information carefully and answer the question given below:

A is the son of B. C, B's Sister, has a son D and a daughter E. F is the maternal
uncle of D. How 1s E related to F?

(1) Sister (2) Niece
(3) Daughter (4) Wife
Options :

920906106065. 1



920906106066. 2
920906106067. 3
920906106068. 4

Question Number : 17 Question Id : 92090626843 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Read the following information carefully and answer the question given below:

A is the son of B. C, B's Sister, has a son D and a daughter E. F is the maternal
uncle of D. How is E related to F?

(1) Sister (2) Niece
(3) Daughter (4) Wife
Options :

920906106065. 1
920906106066. 2
920906106067 3
920906106068. 4

Question Number : 18 Question Id : 92090626844 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Figure (x) is embedded in which one of the four alternatives:

Figure (x)

(1) (2)

(3) < (4)

Options :
920906106069. 1




920906106070. 2
920906106071. 3
920906106072. 4

Question Number : 18 Question Id : 92090626844 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Figure (x) 15 embedded in which one of the four alternatives:

Figure (x)

(1) (2)

(3) < (4)

Options :

9209061060609. 1
920906106070. 2
920906106071. 3
920906106072. 4

Question Number : 19 Question Id : 92090626845 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the group of letters which is different from others :

POCG, BUDX, ATRG, ZIKL, FQMV

(1) POCG (2) BUDX
(3) FQMV (4) ZIKL
Options :

920906106073. 1
920906106074. 2



920906106075. 3
920906106076. 4

Question Number : 19 Question Id : 92090626845 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the group of letters which is different from others :

POCG, BUDX, ATRG, ZIKL, FQMV

(1) POCG (2) BUDX
(3) FQMV (4) ZIKL
Options :

920906106073. 1
920906106074. 2
920906106075. 3
920906106076. 4

Question Number : 20 Question Id : 92090626846 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the most appropriate description about these three words.
Sand stone : Limestone : Coal

(1)  They are formed by metamorphic rocks
(2) They are chemical minerals
(3) They are found in river beds

(4)  They are formed sedimentary rocks

Options :

920906106077. 1
920906106078. 2
920906106079. 3
920906106080. 4

Question Number : 20 Question Id : 92090626846 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the most appropriate description about these three words.
Sand stone : Limestone : Coal

(1)  They are formed by metamorphic rocks
(2) They are chemical minerals
(3) They are found in river beds

(4) They are formed sedimentary rocks

Options :

920906106077. 1
920906106078. 2
920906106079. 3
920906106080. 4

Question Number : 21 Question Id : 92090626847 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The international Court of Justice was established in the year:

(1) 1946 (2) 1948
(3) 1950 (4) 1947
Options :

920906106081. 1
920906106082. 2
920906106083. 3
920906106084. 4

Question Number : 21 Question Id : 92090626847 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The international Court of Justice was established in the year:

(1) 1946 (2) 1948
(3) 1950 (4) 1947
Options :

920906106081. 1
920906106082. 2
920906106083. 3
920906106084. 4



Question Number : 22 Question Id : 92090626848 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List I :

List I (Country) List II (Emblem)
(A) Australia (I) Lionel Capital
(B) United States of America (II) Kangaroo
(C) India (ITT) Golden rod
(D) United Kingdom (IV) Rose

(Choose the correct answer from the options given below:

(1) (A-ID, (B)-(ID), (C)-(D), (D)-IV)
(2 (A)-AD, (B)-(ID), (C)-(IV), (D)-(D)
(3 (A)-AID, (B)-(1D), (C)-(D), (D)-(IV)
(4)  (A)-AV), (B)-(IID), (C)-(I), (D)-(II)

Options :

920906106085. 1
920906106086. 2
920906106087. 3
920906106088. 4

Question Number : 22 Question Id : 92090626848 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Mateh List T with List IT -

List [ (Country) List II (Emblem)
(A) Australia (I) Lionel Capital
(B) United States of America (II) Kangaroo
(C) India (IIT) Golden rod
(D) United Kingdom (IV) Rose

Choose the correct answer from the options given below:

(1) (A)-ID, (B)-(ID), (C)-(I), (D)-(IV)
(2)  (A)-ID, (B)-(ID), (C)-(IV), D)-(D)
(3 (A)-aID, (B)-(ID), (C)-(I), (D)-(IV)
(1)  (A)-AV), (B)-(11D), (C)-(D), (D)-(1I)

Options :

920906106085. 1
920906106086. 2
920906106087. 3
920906106088. 4

Question Number : 23 Question Id : 92090626849 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

National Development Council was constituted on

(1)  Augustl6, 1950 (2) Aprl 01, 1951
(3)  August 06, 1952 (4) August 16, 1952
Options :

920906106089. 1
920906106090. 2
920906106091. 3
920906106092. 4

Question Number : 23 Question Id : 92090626849 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



National Development Council was constituted on

(1)  Augustl6, 1950 (2) April 01, 1951
(3)  August 06, 1952 (4) August 16, 1952
Options :

920906106089. 1
920906106090. 2
920906106091. 3
920906106092. 4

Question Number : 24 Question Id : 92090626850 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements: One 15 labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A) : Marathas emerged as the strongest native power in India after the
decline of Mughal

Reasons (R) :  Maratha were the first to have a clear concept of United Nation.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 15 NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

920906106093. 1
920906106094. 2
920906106095. 3
920906106096. 4

Question Number : 24 Question Id : 92090626850 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements: One 15 labelled as Assertion (A) and the other 1s
labelled as Reason (R).

Assertion (A) : Marathas emerged as the strongest native power in India after the
decline of Mughal

Reasons (R) :  Maratha were the first to have a clear concept of United Nation.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 15 NOT the correct explanation of (A)
(3) (A) 1s correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

920906106093. 1
920906106094. 2
920906106095. 3
920906106096. 4

Question Number : 25 Question Id : 92090626851 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Deepika Kumari is associated with which of the following sports?

(1) Archery (2) Gymnastics
(3) Badminton (4) Athletics
Options :

920906106097. 1
920906106098. 2
920906106099. 3
920906106100. 4

Question Number : 25 Question Id : 92090626851 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Deepika Kumari 1s associated with which of the following sports?

(1) Archery (2) Gymnastics
(3) Badminton (4) Athletics
Options :

920906106097. 1
920906106098. 2
920906106099. 3
920906106100. 4

Part B: Botany

Section Id : 920906532
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906864
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090626852 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

False branching of thallus iz observed in

(1) Rivularia (2) Scytonema
(3) Oedogonium {4) Volvox
Options :

920906106101. 1
920906106102. 2
920906106103. 3
920906106104. 4



Question Number : 26 Question Id : 92090626852 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
freferfiga o @ foped dom =i sl s vl S 8 2

(1) Rgeirar (2) @rzeiHiAT
(3) FErmam (1) T
Options :

920906106101. 1
920906106102. 2
920906106103. 3
920906106104. 4

Question Number : 27 Question Id : 92090626853 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Heterocyst a thick-walled, pale-vellow, barrel-shaped structure found in blue-green
algae, helps in

(1) Defence (2) N: fixation
(3) C0= fixation {(4) Sulfur metabolism
Options :

920906106105. 1
920906106106. 2
920906106107. 3
920906106108. 4

Question Number : 27 Question Id : 92090626853 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i gfm daw § W 9F 9wt A9 fufw e, s 9w @ f1, SeEsn 5=
‘geutaee, fra o | forem e T B0

(1) & (2) e ferdem
(3) CO, fertwm (4) HeH 39T
Options :

920906106105. 1
920906106106. 2



920906106107. 3
920906106108. 4

Question Number : 28 Question Id : 92090626854 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The influenza virus carry functional surface projections called spike which contains
unique enzyme known as

(1) RNA polvmerase (2) DNA polymerase
(3 Neuraminidase {(4) Hexokinase
Options :

9209061061009. 1
920906106110. 2
920906106111. 3
920906106112. 4

Question Number : 28 Question Id : 92090626854 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

THUAT TN § TES FEA I Al HEiHS, Fa8 i § 90 §H 9 Al
TS Fi T # O =7 FE A 87

(1) FATA.U. eimia (2) €1.U4.T diefiaia
(3) —JOREES (4) EdTHIEH
Options :

920906106109. 1
920906106110. 2
920906106111. 3
920906106112. 4

Question Number : 29 Question Id : 92090626855 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Transformation, a phenomenon responsible for recombination in microbes was
discovered by

(1) F. Griffith (2) .J. Lederberg
(3) E. Tatum (4) W. Hayes
Options :

920906106113. 1
920906106114. 2
920906106115. 3
920906106116. 4

Question Number : 29 Question Id : 92090626855 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T U UHT qftgeAT & o geusial & Edied © o Swet 8, 396 @il 87

(1) k. e (2) . ozt
3 3. %= (4) ==q, waE
Options :

920906106113. 1
920906106114. 2
920906106115. 3
920906106116. 4

Question Number : 30 Question Id : 92090626856 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rhodophyceae possesses the following unique characteristics

{A) The septa between the adjacent cells have ‘pit connections’
(B) The flagellated motile stages are totally absent

(C) Red algae exhibit low degree of epiphytism and parasitism
()  They contain water soluble phycocyanin pigment

(E) The accumulated photosynthetic product is floridean starch

Choose the most appropriate answer from the options given below :

(1) (A), (B), (C) only (2) (A). (B). (E) only
(3)  (B), (C), (D) only (4) (C), (D), (E) only



Options :

920906106117. 1
920906106118. 2
920906106119. 3
920906106120. 4

Question Number : 30 Question Id : 92090626856 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
USrersdl # ffifiga sifgdia favand o sl 27
(A)  3ATE SR & &9 U T 9Te] 9 § Td a4 9387 1497 2 |
(B)  =mumnedt wiferefier srarwemd quiean siufeem 2t )
(C) et Hare fae &oft it siferareuar va wwshifaar wefdfa = 1
(D) = el H Yomeiiel BISHEEr-- auih &l g |
(E) U T S9N 3097 BelE iy = 2 |

e feu v famredi O & a9 IR I & =994 HifAC

(1) =ad (A), (B), (C) (2) =Ha (A), (B), (E)
(3) %aa (B), (C), (D) (4) A (), (D). (E)
Options :

920906106117. 1
920906106118. 2
920906106119. 3
920906106120. 4

Question Number : 31 Question Id : 92090626857 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with Last I1 :

List I List IT

Fruiting body Sub-division/order
(A) Cleistothecium (I) Hemiascomycetes
(B) Asci (inaked) (I) Ervsiphales
(C) Apothecium (IIT) Pyrenomycetes
(D) Perithecium (IV) Discomycetes

Choose the correct answer from the options given below:

(1) A)-(D, (B)-(II), (C)-(I1D), (D)-(IV)
(2)  (A)-AD, (B)-(0), (C)-(IV), (D)-(I1I)
(3) (A1), (B)-(IV), (C)-(I), (ID-(11)
(4) (A)-(IV), (B)-(I1I), (C)-(II), (D)-(I)

Options :

920906106121. 1
920906106122. 2
920906106123. 3
920906106124. 4

Question Number : 31 Question Id : 92090626857 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=t 1% @y 5= 11 =61 faers ife |

a1 H 11
EICED PIEEIECE 2
(A) FeleedifmEm () eHiuepmsiacE
(B) 7 T (IT) wdiErssed
(C) urefifiEm (I11) TrRmsfadE
(D) Tpefitmm (IV) femrmmsfada
feu Tu Tl # 9 TE ST 1 994 Fifu

(1)  (A)-( D). (B)-(I1), (C)-(I1T), (D)-(IV)
(2)  (A)-(ID), (B)-(I), (C)-(IV), (D)-(11I)
(3)  (A)-(I), (B)-(IV), (C)-(I), (D)-(II)
(1) (A)-(IV), (B)~(III), (C)-(II), (D)-(I)

Options :

920906106121. 1
920906106122. 2
920906106123. 3
920906106124. 4

Question Number : 32 Question Id : 92090626858 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DNA is synthesized in the cell by

(1) Tag polymerase (2) DNA polymerase
(3 Topoisomerase (4) RNAase
Options :

920906106125. 1
920906106126. 2
920906106127. 3
920906106128. 4

Question Number : 32 Question Id : 92090626858 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fafeifiga o & formes g il 4 €1 A U Hyeifud g 87

(1) o uicim (2) & w U g
(3) ZMIHATEHEES (4) IUATH
Options :

920906106125. 1
920906106126. 2
920906106127. 3
920906106128. 4

Question Number : 33 Question Id : 92090626859 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Glyeyrrhiza glabra is used in the treatment of

(1) Cough (2) Insomnia
(3) Diarrhoea (4) Rhemuatism
Options :

920906106129. 1
920906106130. 2
920906106131. 3
920906106132. 4

Question Number : 33 Question Id : 92090626859 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ffcifiga o & fermeh g Sifirest 4 €1 A U Hycifvd g 87

(1) 2o uicims (2) € W U g
(3) ZHIHATEHEE (4) HREATH
Options :

920906106129. 1
920906106130. 2
920906106131. 3
920906106132. 4

Question Number : 34 Question Id : 92090626860 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is most acidic from the mentioned material?

(1) Tomato Juice (2) Blood plasma
(3) Egg white {(4) Fresh milk
Options :

920906106133. 1
920906106134. 2
920906106135. 3
920906106136. 4

Question Number : 34 Question Id : 92090626860 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

feu U geret & & i waifus g 27

(1) ZHE & ™ (2) Th =l
(3) 38 w4 (4) = gH
Options :

920906106133. 1
920906106134. 2
920906106135. 3
920906106136. 4

Question Number : 35 Question Id : 92090626861 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The time interval between the formation of successive leaf primordia is termed as:

(1) Apical dominance (2) Plastochron
(3) Phyllotaxy (4) Parastichy
Options :

920906106137. 1
920906106138. 2
920906106139. 3
920906106140. 4

Question Number : 35 Question Id : 92090626861 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

i g e (YrEEitEan) % =44 4 959 300 HEd B

(1) i e (2) ATRLIHA (FEATHA)
(3)  Tuifa=mE (4) TaafE
Options :

920906106137. 1
920906106138. 2
920906106139. 3
920906106140. 4

Question Number : 36 Question Id : 92090626862 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Glyphosate resembles phosphoenol pyruvate and inhibits the enzyme EPSP
synthetase which synthesises

(1) aliphatic amino acids (2) aromatic amino acids
(3 bhasic amino acids {(4) acidic amino acids
Options :

920906106141. 1
920906106142. 2
920906106143. 3
920906106144. 4

Question Number : 36 Question Id : 92090626862 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TAREEE, FIUREATA TR & W9 & a1 EPSP faudd 9 t-amy & Eifud i 8
Ell &1 T FHAT B

(1) Uefifes snfHl 3ne (2) urifes AT 3
(3)  eE AT 3T (1) g pf 3
Options :

920906106141. 1
920906106142. 2
920906106143. 3



920906106144. 4

Question Number : 37 Question Id : 92090626863 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements : One i1s labelled as Assertion (A) and the other is
labelled as Reason (R) :

Assertion (A) : Cotton and linen textiles have long durability due to cellulose’s side-
by-side aggregates which form molecular cables.

Reasons (R) : Durability of cellulose 1s due to & -(1-6) glycosidic bonds.

In the light of the above Statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 18 correct but (R) is not correct

(4) (A) 15 not correct but (R) 1s correct

Options :

920906106145. 1
920906106146. 2
920906106147. 3
920906106148. 4

Question Number : 37 Question Id : 92090626863 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



F 21 % feu v - us fisA (Assertion A) % w9 § fafga & 91 gEu 3@ w0
(Reason R) & ®9 ¥ :

sty (A): w9 99 {99 & o= & =i o9 999 9% Bl 8 (aEsl S
Hogells &1 A1 A9 Yo & A T 3] Hael &1 & |

10 (R) : AT HI CHFH a-(1-6) TAEHIESH F9 5 ST E |

ITAE I o Aerd H, A= Teu Mo ool § § FaH ITgF 9L I 99 HIAC

(1) (A) 3R (R) g1 el & 3 (R), (A) i |& =ame # |

(2) (A) 3R (R) a1 @&l &, wied (R), (A) F1 @1 = 748 2 |
(3) (A) @E &, ofe (R) 98 781 2 |

(4)  (A) @l 78 2, @ifeT (R) @&l 21

Options :

920906106145. 1
920906106146. 2
920906106147. 3
920906106148. 4

Question Number : 38 Question Id : 92090626864 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ergotism, which is characterized by gangrene, nervous spasm, burning sensation,
hallucinations and temporary ‘insanity’ is caused by

(1) Claviceps purpurea (2) Phytophthora
(3 Pilobolus (4) Rhizopus stolonifer
Options :

920906106149. 1
920906106150. 2
920906106151. 3
920906106152. 4

Question Number : 38 Question Id : 92090626864 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e T, foms Afesm TR, SgEed teF, 9oF, f9e a9 3 oresE #
% U 39~ Bl 2 |

(1)  Foaige gegiar (2) wrEerRmT
(3) wEcHEoE (4) TEFTH ETAAET
Options :

920906106149. 1
920906106150. 2
920906106151. 3
920906106152. 4

Question Number : 39 Question Id : 92090626865 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Morchella esculenta, often found growing under trees in orchards, with an edible
ascocarp, belongs to the class

(1) Zvgomyceetes (2) Basidiomycetes
(3 Ascomycetes (4) Deuteromycetes
Options :

920906106153. 1
920906106154. 2
920906106155. 3
920906106156. 4

Question Number : 39 Question Id : 92090626865 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TITeTT TeageieT A 3 # STttt § Ui % = an = 7, R v v 2,
f= 5 @ form =1 & wafua 27

(1) FETEEEda (2) wdifeammefads
(3) UERmEEESE (4) IR
Options :

920906106153. 1
920906106154. 2
920906106155. 3
920906106156. 4



Question Number : 40 Question Id : 92090626866 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Many fungi have no known sexual stages in their life-cycle. Mycologists have
traditionally grouped such fungi into

(1) Ascomycetes (2) Basidiomycetes

(3) Deuteromycetes (4) Zygomycetes

Options :

920906106157. 1
920906106158. 2
920906106159. 3
920906106160. 4

Question Number : 40 Question Id : 92090626866 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g0 H Hashl o Siad @ W TifTeh ACYTE AT A&l £ | Hash-Tae-al o UH Hawhi i
yREiEh w9 | e yen § aEd T 2

(1) UEhmETEES (2) sHifeamEReS

(3) gLmEEdE (4) FFTHEEESS

Options :

920906106157. 1
920906106158. 2
920906106159. 3
920906106160. 4

Question Number : 41 Question Id : 92090626867 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Covered smuts’ disease in Barley is caused by

(1) Ustilago nuda (2) Ustilago kollert

(3 Ustilago scitamineae (4) Ustilago hordet

Options :
920906106161. 1
920906106162. 2



920906106163. 3
920906106164. 4

Question Number : 41 Question Id : 92090626867 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S H ‘S e W B B E:

(1)  aFieeoT JeT (2) aFifezem Ficid
(3) e Gl (4) 7t EEETE
Options :

920906106161. 1
920906106162. 2
920906106163. 3
920906106164. 4

Question Number : 42 Question Id : 92090626868 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The advanced characters exhibited by the members of basidiomyeotina include:

{A) Mo specialized sex organ are formed

{(B) Sewveral types of spore in the life-cycle

(C) Spores are endogenous in nature

(I Formation of dikarvotic cells by clamp connection

(E)  Presence of dolipore septa

Choose the most appropriate answer from the options given below :

(1)  (A), (B), (C), (E) only (2) (A), (B), (C), (D) only
(3)  (A), (B), (D), (E) only (4) (B), (C), (D), (E) only
Options :

920906106165. 1
920906106166. 2
920906106167. 3
920906106168. 4

Question Number : 42 Question Id : 92090626868 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

SEifeamTgHIicn Sl 0T Fau yghia & 2, 9 2|
(A) i3 i fafire <ifes 3f 8 w90 |

(B) ffaq = ® &S YR o a9 B 2 |

(C) fSosAT =i Srpfe e il 2 |

(D) F9-994 g fEghl S 594 8 |

(E) 3 <efifed we id €1

= feu e fomhedl 9 ® H9H 39gH 30T 1 994 HIWT

(1) ==« (A), (B), (O), (E) (2) e (A), (B), (C), (D)
(3) wHad (A), (B), (D), (B) (4) Fae (B), (C), (D), (E)
Options :

920906106165. 1
920906106166. 2
920906106167. 3
920906106168. 4

Question Number : 43 Question Id : 92090626869 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion (A) and the other is

labelled as Reason (R) :

Assertion (A) : Gnefum is closer to angiosperms than gymonsperms.

Reasons (R): There is complete elimination of archegonia in the female
gametophyte of Gnetum.

In the light of the above Statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2 Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) 1s true but (R) is not false

(4) (A) 1s false but (R) is true

T

Options :

920906106169. 1
920906106170. 2
920906106171. 3
920906106172. 4



Question Number : 43 Question Id : 92090626869 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= g FUA fou U E ;U AMFYA (Assertion A) % ®Y § foiflgq B 91 gEU 356 S0
(Reason R) & ®9 ¥ :

AR (A) : 27, I FAFEl Tl H] IJUE AGAsAA § Haw GHE g |
% (R) : ew * el TEFGHIE § Siuw 9 E & faeitia g 2
ITUH HGT & AT °, Ao fgr 7 fawedi § 8§ g8 I7gad I 1 9949 Hifaw
(1) (A) 3R (R) 31 &4 & 301 (R), (A) 1 9l =are 2 |

(2) (A 3 (R) TFI 8 &, wfehd (R), (A) 1 Wl =4 78 2 |

3) (A=A 8, wifH (R) 38 2 |

(4)  (A) HEF 8, «fed (R) & 2

Options :

920906106169. 1
920906106170. 2
920906106171. 3
920906106172. 4

Question Number : 44 Question Id : 92090626870 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Retort cells are present in

(1 Sphagnum (2) Riceia
(3 Funaria (4) Lycopodium
Options :

920906106173. 1
920906106174. 2
920906106175. 3
920906106176. 4

Question Number : 44 Question Id : 92090626870 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



freie it 7= 4 | frmd safcm &t 27

(1) @@= (2) FfFr
(3)  wHRT (1) TEFTTET
Options :

920906106173. 1
920906106174. 2
920906106175. 3
920906106176. 4

Question Number : 45 Question Id : 92090626871 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The cells of hydrom sheath in Polytrichum are rich in-

(1) oils (2) proteins
(3) starch {4) chlorophyll pigments
Options :

920906106177. 1
920906106178. 2
920906106179. 3
920906106180. 4

Question Number : 45 Question Id : 92090626871 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tictigies T SeaTaias 3T=ag $i Hiuss 0 = § F 3= W 9 § e 27

(1) d (2) TR
3) == (4) eha wa® A
Options :

920906106177. 1
920906106178. 2
920906106179. 3
920906106180. 4

Question Number : 46 Question Id : 92090626872 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Among the following pteridophytes, the initial steps in evolutionary trend of seed
development can be best seen in

(1)  Lycopodium (2) Selaginella
(3) Isoetes (4) Rhynia
Options :

920906106181. 1
920906106182. 2
920906106183. 3
920906106184. 4

Question Number : 46 Question Id : 92090626872 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafefad Hieese 4 o fawm i faewE g & s = 3= @E @
EI:ET 4

(1) EEHEas (2) Tfaeifadenr
(3)  SEwEiEeT (4) wFET
Options :

920906106181. 1
920906106182. 2
920906106183. 3
920906106184. 4

Question Number : 47 Question Id : 92090626873 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with Last I1 :

Last I List 11
(Suffix) (Group Heirarchy)
(A) —opsida (I} sub-class
(BY —bionta (II) class
(C) —inae (111} sub—tribe
(DY —dae (IV) Kingdom

Choose the correct answer from the options given below:

(1) (A)-(), (B)-(ID), (C)-(I), (D)-(IV)

(2)  (A)-IV), (B)-(I), (C)-(I1I), (D)-(11)

(3) (A)-(T), (B)-(11I), (C)-(1I), (D)-(IV)

(4)  (A)-1D, (B)-AV), (C)-(11D), (D)-(D)
Options :

920906106185. 1
920906106186. 2
920906106187. 3
920906106188. 4

Question Number : 47 Question Id : 92090626873 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt 15 @ g 11 =1 faerm shifa |
el 1 (37e) T 11 (S8 3T9)
(A) — HITHET (—opsida) O 39-=
(B) — &I (~bionta) (I =i
(C) — &l (—inae) (ITT) 39— (39-Ha)
(D) — 21 (~idea) (V) wma (Ferem)

T few v Taswedt 0 @ w6t 3T % =594 Sifau

(1) (A)-(IID, (B)-(D, (C)-(D, (D)-(IV)
(2)  (A)-IV), (B)-(I), (C)-(LID), (D)-(II)
(3)  (A)-D), (B)-(I), (C)-(1I), (D)-(IV)
(4)  (A)-IL), (B)-(1V), (C)-(1II), (D)-(1)



Options :

920906106185. 1
920906106186. 2
920906106187 3
920906106188. 4

Question Number : 48 Question Id : 92090626874 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mycorrhizal fungi helps in delivery of which key ions to the plant sytem?

(1 Phosphate ions (2) Sodium ions
(3) Chloride ions (4) Carbonate ions
Options :

920906106189. 1
920906106190. 2
920906106191. 3
920906106192. 4

Question Number : 48 Question Id : 92090626874 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FAHAA Hah, I A hE &I JAH HI TeT-a-4 § JgH Fdl 27

(1) HiEThe HEA (2) wifeaw s
(3) FENEE FET (4) HEHe A=A
Options :

920906106189. 1
920906106190. 2
920906106191. 3
920906106192. 4

Question Number : 49 Question Id : 92090626875 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Companion cells which are located close to the sieve tube serve the same function as

(1) Strasburger cells (2) Bulliform cells
(3) Phellogen (4) Cells with bars—of—sanio



Options :

920906106193. 1
920906106194. 2
920906106195. 3
920906106196. 4

Question Number : 49 Question Id : 92090626875 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TE, HIIHC o1 ITe-1 HIeR i o 55d 99 Adq 8l &, o Eil
F1d FA E |

(1) W HifEh (2) Y I

(3) A (4) &= ufee areft Hifiren

Options :

920906106193. 1
920906106194. 2
920906106195. 3
920906106196. 4

Question Number : 50 Question Id : 92090626876 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P-proteins are associated with differentiation of

(1) Paracytic stomata (2) Paratracheal parenchyma
(3 Pneumatophore (4) Phloem sieve elements
Options :

920906106197. 1
920906106198. 2
920906106199. 3
920906106200. 4

Question Number : 50 Question Id : 92090626876 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



P-HiE4 % YR § Tl 8
(1) et W (2) wUETEhl ggaw
(3) =y (4) T I de (UefHeE)

Options :

920906106197. 1
920906106198. 2
920906106199. 3
920906106200. 4

Question Number : 51 Question Id : 92090626877 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List I1 ;

List I Last I1
(A) Phyllotaxy (' H.H. Dixon and . Joly
(B) Cohesion theory (II) E. Munch
(C) Pressure flow hypothesis (II1) Leonardo Fibonacel
(D)) Quiescent center (IV) F.A L. Clowes

Choose the correct answer from the options given below:

1)  (A)-(ID), (B)-(III), (C)-(IV), (D)-(I)
. (A)-(I11), (B)-(I), (C)-(II), (D)-(IV)
3 (A)-(IV), (B)-(1I), (C)-(I1I), (D)~(I)
4) (A0, (B)-(IV), (C)-(AI), (D)-(I1I)

o

]

T

(
(
(
(

Options :

920906106201. 1
920906106202. 2
920906106203. 3
920906106204. 4

Question Number : 51 Question Id : 92090626877 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=t 15 @ 5= 11 &1 e ife |

il o=t 1l
(A) °oi fearmg () v=.v=. feaga qun . Sieft
(B) we faqum (In 3. 5=
(C) T™ a8 9iehed (I11) feramrel wresres
(D) W=t (IV) T%. T, Tet. Feiisel
feu T fasredt § & WE I F 954 HifA0

(1) (A)-(D), (B)-(I1I), (C)-(IV), (D)-(I)
(2)  (A)-(IID), (B)-(1), (C)-(II), (D)-(IV)
(3)  (A)-AV), (B)-(ID), (C)-(I1I), (D)-(I)
(4)  (A)-), (B)-(IV), (C)-(11), (D)-(I1I)

Options :

920906106201. 1
920906106202. 2
920906106203. 3
920906106204. 4

Question Number : 52 Question Id : 92090626878 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 : HRauvolfia serpenting was used by native indians for snake-bite and as
tranquilizer for the treatment of mental disorders.

Statement 11 : Taxol is a drug obtained from plant Taxus brevifolia which is used for
treatment of leprosy.

In the light of the above Statements, choose the most appropriate answer from the
options given below :

(1) Both Statement I and Statement 11 are correct

2 Both Statement I and Statement I1 are incorrect

(
(3) Statement I is correct but Statement 11 1s incorrect
(4) Statement I is incorrect but Statement 11 is correct

Options :

920906106205. 1
920906106206. 2
920906106207. 3



920906106208. 4

Question Number : 52 Question Id : 92090626878 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

== 2 %Y oy U E ¢

$94 () :  @9ew & Tofu Wi 999 & 90dE g0 USaiesdn S=HT 1 398 fwa
AT U1l 39 99 1 390 AEiEs faenl % 3R % oy e s % w0 oA
T = 21

%ud (1) : ¢ U 3y 8 S Z9gg #awicsr TWs WY ¥ v g 21 gEe
I9IT FEIA % ITEN F fequ faman sman 21

3T HYF & ATE® §, A< G0 70 fomedi § 9 gE8 I9gF I B 994 S0

(1) YA (1) T (1D GHT w2 |

(2) % () 3R (1) g e & |

(3) wuA (D) 9l 8, ©ifeA weA (10) Tord 2 |

(4) wu (1) Terd 8, o e (1) T8 2 |

Options :

920906106205. 1
920906106206. 2
920906106207. 3
920906106208. 4

Question Number : 53 Question Id : 92090626879 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT :

List I List 11
Scientific Names Common Names
(A) Eugenia carvophyllus (I) Nutmeg
(By Elettaria cardamomum (II) Clove
(C) Myristica fragrans (IIT) Cardamom
(DY Carcum carvi (IV) Caraway seed

Choose the correct answer from the options given below:

(1)  (A)-(ID), (B)-(III), (C)-(I), (D)-(IV)
(2)  (A)-(D), (B)-(II), (C)-(II), (D)-(AV)
(3)  (A)-IV), (B)-(IID), (C)-(I), (D)-(1I)
(4) (A0, (B)-(IID), (C)-(AV), (D)-(1I)

Options :

9209061062009. 1
920906106210. 2
920906106211. 3
920906106212. 4

Question Number : 53 Question Id : 92090626879 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt 1= ar Tt 11 1 fiam it

Tt 1 g 11
(A) ZoT FRFETT (1) =S
(B) ©eHi2hI FRETHT (1) =&m (=)
(C) FEfifeesr i (I11) serma=t
(D) #HreF FET (IV) S
feu mu fasreat § 9 & 3 1 959 Fifau

(1)  (A)-(D), (B)-(1I), (C)-(1), (D)-(IV)
(2)  (A)-(D), (B)-(IID), (C)-(II), (D)-(IV)
(3)  (A)-AV), (B)-(IID), (O)-(I), (D)-(11)
(4)  (A)-(), (B)-(IID), (C)-(IV), (D)-(1)

Options :



9209061062009. 1
920906106210. 2
920906106211. 3
920906106212. 4

Question Number : 54 Question Id : 92090626880 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Drug ‘gquinine’ used for treatment of malaria is obtained from

(1) Artemisia absinthium (2) Rauvelfia serpentina
(3 Cinchona sps. (4) Ipomoea violacen
Options :

920906106213. 1
920906106214. 2
920906106215. 3
920906106216. 4

Question Number : 54 Question Id : 92090626880 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl % 39ER % T $F i W At g ‘Fa e 0 | e | ura gt 27

(1) e vagif<am (2) TSFHHTT TI-CTET
(3)  TasmT ST (4) =9 aEicEEr
Options :

920906106213. 1
920906106214. 2
920906106215. 3
920906106216. 4

Question Number : 55 Question Id : 92090626881 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Nuclear pores present on nuclear envelope are enclosed by a circular structure
called as

(1) Lamina (2} Annuh
(3) Granum {(4) Vesicle
Options :

920906106217. 1
920906106218. 2
920906106219. 3
920906106220. 4

Question Number : 55 Question Id : 92090626881 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR 3T § 9T S AT A1 fog | geen 8 = | B g 8, 39 FEd @

(1) =i () (2) TEAgHT (THES)
@ o (4) e (defre)
Options :

920906106217. 1
920906106218. 2
920906106219. 3
920906106220. 4

Question Number : 56 Question Id : 92090626882 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following plant vields foxnut?

(1) Euryale ferox (2y  Nelumbo nouchali
(3) Nelumbo alba (4) Victoria regia
Options :

920906106221. 1
920906106222. 2
920906106223. 3
920906106224. 4

Question Number : 56 Question Id : 92090626882 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

=1 5 & S =1 dar g 309 BT 87

(1) ZREeT &ea (2) et FiEet
(3)  FHorat srear (1) TaFeifar i
Options :

920906106221. 1
920906106222. 2
920906106223. 3
920906106224. 4

Question Number : 57 Question Id : 92090626883 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which plant is known for its orange-red dve from flowers?

(1) Dalbergia sissoo (2) Butea monosperma
(3) Lawsonia inermis (4) Clitoria ternatea
Options :

920906106225. 1
920906106226. 2
920906106227. 3
920906106228. 4

Question Number : 57 Question Id : 92090626883 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= 8 & S ' 9 3596 Foll d 9T & 9rell AW - @ O % {9 & g e
AT R?

(1) Ecratoar &t (2) =gfear Ftermt
(3)  eaitaar s (4) FTTFEIET AT
Options :

920906106225. 1
920906106226. 2
920906106227. 3
920906106228. 4



Question Number : 58 Question Id : 92090626884 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion (A) and the other is

lahelled as Reason (R) :

Assertion (A) : Pollen fixed in Formalin : Acetic acid : Alcohol can be used to
ascertain fertility but not the viability.

Reasons (R) :  Pollen fertility refers to the ability of a plant to produce fertile pollen
grains, where as the viability refers to the ability to germinate and
produce a pollen tube.

In the light of the above Statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) 18 correct but (R) 1s not correct
(4) (A) 1s not correct but (R) 1s correct
Options :

920906106229. 1
920906106230. 2
920906106231. 3
920906106232. 4

Question Number : 58 Question Id : 92090626884 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= g Fua feu o E ;v AfEER (Assertion A) & w9 H foiflaa 2 o gEU 35k SR
(Reason R)&% &4 H :

WMgRe (A) :  TETEYIT I BHAM : THICHAT : Uoshlgd § W@ § I9ihal gHread
Bt & 7 Sfie gmar 74|

+rm (R) T U - JAehdl o1 ATHIE TE9 g HHE/3E WA S 3caTe
T BT & Falh SA1a- AT HT 7Y TR HUT HT AP 37T TET-ATeTaht
=1 &1 BT Bl

ITT FIF F FoF 5, A= f2u 7 fGwedt § § 981 I3 1 994 $ifan

(1) (A) 3R (R) 3 51 £ 3 (R), (A) 1 781 =Fre 8 |

(2) (A) F (R) 31 Wl &, il (R), (A) F1 @l = & 2 |
(3) (A)EH g, i (R) 378cd 2|

(4)  (A) 3EA B, wfF (R) &cF 2

Options :

920906106229. 1
920906106230. 2
920906106231. 3
920906106232. 4

Question Number : 59 Question Id : 92090626885 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The extra-chromosomal heredity unit, circular in nature is called

(1) X-Factor (2) Plasmid
(3) Cosmid (1) HRecA Protein
Options :

920906106233. 1
920906106234. 2
920906106235. 3
920906106236. 4

Question Number : 59 Question Id : 92090626885 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AR ST 1 Al T AR 36 HEend &

(1) X=® (2) wifeHE
(3) RIS (4) IFH-ATEH
Options :

920906106233. 1
920906106234. 2
920906106235. 3
920906106236. 4

Question Number : 60 Question Id : 92090626886 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Double-helix structure of DNA is made up of a linear polymer comprised of subunits

called

(1) Nucleic acids (2) Amino acids
(3 Nucleotides (4) Carbohvdrates
Options :

920906106237. 1
920906106238. 2
920906106239. 3
920906106240. 4

Question Number : 60 Question Id : 92090626886 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

E1.UA.T, I fg-Felor a1 0h @ Fgers g a1 &l & fa|d ERECICON
HOTa T Bt # |
(1) el 3w (2) T e
(3) s (1) wmEiEEge
Options :

920906106237. 1
920906106238. 2
920906106239. 3
920906106240. 4

Question Number : 61 Question Id : 92090626887 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

(Genes which code for primary structure of enzymes in operon model are called :

(1) Structural genes (2) Repressor genes
(3) Regulatory genes (4) Negative genes
Options :

920906106241. 1
920906106242. 2
920906106243. 3
920906106244. 4

Question Number : 61 Question Id : 92090626887 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 S I EE IEY § TSR % Taite §TEET S $IE Hid &, HEed &

(1) E=E-THS A (2) TFHFHI S
(3) Tams = (4) =OTeH S
Options :

920906106241. 1
920906106242. 2
920906106243. 3
920906106244. 4

Question Number : 62 Question Id : 92090626888 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are autosomal dominant traits?

(A) Colour blindness

(B) Mpyotonic dystrophy

{(C) Phenylthio Carbamide Tasting
(D) Phenylketonuria

(E) Branchydactyly

Choose the most appropriate answer from the options given below :

(1) (A), (C), (D) only (2) (A), (B), (D) only
(3)  (A), (D), (E) only (4) (B).(C), (E) only
Options :

920906106245. 1
920906106246. 2
920906106247. 3
920906106248. 4

Question Number : 62 Question Id : 92090626888 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frfafga @ 9 #F SAfemonght waEt @& 27
(A)  SvriEmT

(B) WHEREIH® SEEE

(C) THamas amn SEEEs Jh

(D) ThrEEEhERiE

(E) sishigaersal

= fou v famedi 4 & T8 39w I & 94 HIfAC

(1) == (A), (C), (D) (2) e (A), (B), (D)

(3) a1 (A), (D), (E) (4) Faa (B), (O), (E)
Options :

920906106245. 1
920906106246. 2
920906106247. 3
920906106248. 4



Question Number : 63 Question Id : 92090626889 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion (A) and the other is

labelled as Reason (R) :

Assertion (A) : Embryo rescue technique is used for embryo culture.

Reasons (R): In case of embryo rescue, the objective is to rescue the developing
embryo from the egg cell.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 1s correct but (R) is not correct

(4) (A) 18 not correct but (R) 1= correct

Options :

920906106249. 1
920906106250. 2
920906106251. 3
920906106252. 4

Question Number : 63 Question Id : 92090626889 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= g %gA feu o # : v AR (Assertion A) % ®9 # foifiga 2 df gEu Imeh FRwr
(Reason R) & ®9 # :

FFY (A) : YO HAUA & foiw Yui-3gR (1) a1 g fRar S 2|
#0 (R) : YT T 1 389, 378 SV ° [GwHa gH et g 1 3R 0 2
ITF HUE & A 5, A= 50 70 fomhedi § 9 5a8 I W B F5 S0
(1) (A) 3R (R) 3H 8 2 3R (R), (A) Fi @& =re 2

(2)  (A) IR (R) HT 59 &, & (R), (A) i @t =aren 7 2 |

(3) (A)Tg 2, dfT (R) 39T 2|
(4)  (A) 3@ 2, df (R) 93 21

Options :

920906106249. 1
920906106250. 2
920906106251. 3
920906106252. 4

Question Number : 64 Question Id : 92090626890 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The citric-acid cycle takes place in

(1) Mitochondrial matrix (2) Protoplast
(3) Chloroplast membrane {4) Cell membrane
Options :

920906106253. 1
920906106254. 2
920906106255. 3
920906106256. 4

Question Number : 64 Question Id : 92090626890 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e o & formd fafew-37 9% 81 27

(1) wmEemi-saa digad (2) Sfage®
(3) eftacias e (4) hifsrent fegeett
Options :

920906106253. 1
920906106254. 2
920906106255. 3
920906106256. 4

Question Number : 65 Question Id : 92090626891 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Regulatory portion of plant genes located primarily upstream from the transcription
site is called

(1) (Gene enhancer (2) Gene promoter
(3) G-Box (4) Termination site
Options :

920906106257. 1
920906106258. 2
920906106259. 3
920906106260. 4

Question Number : 65 Question Id : 92090626891 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
oyl § S o Feams 9w S gEm: AEoEd oW $ W W OdEEdE B R
FEATT Bl
(1) < a4h (2) S wad®
(3) G-aied (4) HH9H e

Options :

920906106257. 1
920906106258. 2
920906106259. 3
920906106260. 4



Question Number : 66 Question Id : 92090626892 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the chain elongation process, the factor involved in translocation of ribosome from
one codon to the next along the mRNA is :

(1) GDP (2) NADP
(3) EF-G (4) EF-Tu
Options :

920906106261. 1
920906106262. 2
920906106263. 3
920906106264. 4

Question Number : 66 Question Id : 92090626892 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FEE G WhAT § USEEM % U YHe § g 9He § mRNA % HHaO & g Fe=
T & % 91 A% el &l & 7

(1) =& (2) wWHuEd
(3) 3 THI (1) 3THZ
Options :

920906106261. 1
920906106262. 2
920906106263. 3
920906106264. 4

Question Number : 67 Question Id : 92090626893 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement I : Golden rice, is a transgenic crop with enhanced levels of riboflavin,
{a precursor of vitamin A).

Statement 11 : To create golden rice, the genes used were isolated from daffodil and a
bacterium

In the light of the above Statements, choose the correct answer from the options
given below :

(1 Both Statement I and Statement 11 are true

(2) Both Statement I and Statement 11 are false

(3) Statement I is true but Statement 11 is false

(4) Statement [ 1s false but Statement 11 is true

Options :

920906106265. 1
920906106266. 2
920906106267. 3
920906106268. 4

Question Number : 67 Question Id : 92090626893 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e gl wye feuu & -

FoH (I): @E 9F, TEEwed (9 fGefm A &1 @ ), & 9 g¢ &R amwe
T S 2

Fu4 (1) : @i 9= 99 % foru wgm feew o SfiFi + ewifed aun v Sfamy & sem
Teram o)

I FY & A H, A fGu T Gweq ¥ § |98 3T F 994 S

(1) FWOIRADST aFE |
(2) e (I) 3R (D) SHI 36 & |
(3) FuA (I) 94 &, wifed w5 (1) 38T £ |
(4) %o (I) 318 8, wifed H9 (1) 79 2 |

Options :

920906106265. 1
920906106266. 2
920906106267. 3
920906106268. 4



Question Number : 68 Question Id : 92090626894 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List I1:

List I List I1
(A) Nucleic Acid (I)  George Beadle and E. Tatum
(B) Bacterial Transformation (II) Johann Friedrich Miescher
(C) One gene one enzyme hypothesis (IIT) W. Arber, H. Smith and D. Nathans
() Restriction enzyvmes (IV) Frederick Griffith

Choose the correct answer from the options given below:

(1)  (A)-(IV), (B)-(II), (C)-(I), (D)-(11I)
(2)  (A)-(ID, (B)-(IV), (C)-(I), (D)-(11I)
(3 (A, (B)«II), (C)-(I1I), (D)-(IV)
(4)  (A)-(IID), (B)-(D), (C)-(IV), (D)-(1I)

Options :

920906106269. 1
920906106270. 2
920906106271. 3
920906106272. 4

Question Number : 68 Question Id : 92090626894 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt 1% 9 g1 11 1 e it |

il il
(A) —afees 3w (I) <l dieet a41 3. <2H
(B) ey Fara (I1) = Shehes Him
(C) U I T TAEH THaedT (I11) E5cg_31ei, va. foge o €1, e
(D) wigays v=amEH (IV) Shefis fafey
feu Tu foseat § 9 TE ST 1 954 Fifau

(1) (A)-0V), (B)-(II), (C)-(D), (D)-(1)
(2)  (A)-aI), (B)-(IV), (C)-(D), (D)-(11)
(3)  (A)-(D. (B)-(I), (O)-(I11), (D)-(IV)
(4)  (A)-(I), (B)-(1), (C)-(IV). (D)-(IT)

Options :

920906106269. 1
920906106270. 2
920906106271. 3
920906106272. 4

Question Number : 69 Question Id : 92090626895 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Stenohaline species can tolerate

(1) narrow range of temperature (2) narrow range of salinity
(3)  wide range of temperature (4) wide range of salinity
Options :

920906106273. 1
920906106274. 2
920906106275. 3
920906106276. 4

Question Number : 69 Question Id : 92090626895 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



et el fhaeh wfd afee gt 7

(1) AHUYHE 1 Hhfad TE ] (2) Ul H1 HHfAT THR
(3) aHE F faEga wEn (4) <=l =1 fogd g8l
Options :

920906106273 1
920906106274. 2
920906106275. 3
920906106276. 4

Question Number : 70 Question Id : 92090626896 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For selection of transgenic shoots, medium is essentially supplemented with

(1) Vitamins (2) Carbohydrates
(3 Minerals {(4) Antibiotics
Options :

920906106277. 1
920906106278. 2
920906106279. 3
920906106280. 4

Question Number : 70 Question Id : 92090626896 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RS TAIE o 99 o foe, orem i fAfvea w1 3 gqfa fe s 2

(1) foerfm g (2) HIETEESE BRI
(3) @ ga (4) wiestfami g
Options :

920906106277. 1
920906106278. 2
920906106279. 3
920906106280. 4

Question Number : 71 Question Id : 92090626897 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion (A) and the other is

lahelled as Reason (R) :

Assertion (A) : Tropical regions have higher biodiversity as compared to other
regions of earth.

Reasons (R) :  Tropical regions have older communities and they get more time for
development and speciation as compared to other regions of earth.

In the light of the above Statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3 (A) 12 correct but (R) is not correct

(4) (A) 1s not correct but (R) 1s correct

Options :

920906106281. 1
920906106282. 2
920906106283. 3
920906106284. 4

Question Number : 71 Question Id : 92090626897 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= g1 wye fou e € : v AfeeE (Assertion A) & ®9 ¥ foifiga 2 a1 gou 39 SR0r
(Reason R) & ®9 ¥ :

HUHGA (A) . G F FF &A1 H UG IUHRCIHT &Al H AUS AGEEEd IS
EiLifd

FT (R) gl % I F H I IIEheaE & § WEE HHEE € 3 3%
fasma aen wnfa Igwas & foru sifvs oo faeran 21

I A o e H, A feu Mo fawedi § H Ha9 I9gF I H 99 HIA

(1) (A) 3R (R) gl /8 € 3 (R), (A) i & = § |

(2)  (A) 3R (R) 1 @t &, @b (R), (A) 6t 5t =ame 72 21
(3) (A)=e 2, oifea (R) ol 78 2 |

(1) (A) = 78 2, wfe (R) w8 21

Options :

920906106281. 1
920906106282. 2
920906106283. 3
920906106284. 4

Question Number : 72 Question Id : 92090626898 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements ;

Statement I : Feads of same species are genetically similar and interfertile.

Statement 11 : Ecotypes are genetically different and are not interfertile

In the light of the above Statements, choose the correct answer from the options
given below :

(1) Both Statement I and Statement 11 are true
(2) Both Statement I and Statement 11 are false
(3) Statement I is true but Statement I1 is false
(4) Statement I 1s false but Statement II is true

Options :

920906106285. 1
920906106286. 2
920906106287. 3
920906106288. 4



Question Number : 72 Question Id : 92090626898 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
=l 1 wYA fag U E

FUF (I): T & A0d o I A9 €9 § Th o a97 Fqsa 2id 2l
Fuq (1) :  iifEafas w9 aiyes &9 § 9= 2 € 991 Aausa 781 2|
ITUTH HI & A °, o 5 T fawedi § ¥ wd I &1 99 Fifaw

(1) =% (D) 3 (1) gH 99 2 |

(2)  =>a (1) 30 (1) gHT 35T & |

(3) wU (D) 94 &, dfeT w97 (1) 7157 2|

(4) FuH () 39F g, ol g (ID T = £ |

Options :

920906106285. 1
920906106286. 2
920906106287. 3
920906106288. 4

Question Number : 73 Question Id : 92090626899 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with Last IT:

List I List II
(A) Nanda Dewv1 (I) Meghalaya
(B) Manas (IIY) Uttarakhand
(C) Nokrek (III) Assam
(D) Pachmarhi (IV) Madhya Pradesh

Choose the correct answer from the options given below:

(1)  (A)-(II), (B)-(III), (C)-(IV), (D)-(I)
(2)  (A)-(ID, (B)-(I1I), (C)-(I), (D)-(IV)
(3)  (A)-(D), (B)-(ID), (C)-(AV), (D)-(I1)
(4)  (A)-D), (B)-(IV), (C)-(II), (D)-(11I)

Options :
920906106289. 1



920906106290. 2
920906106291. 3
920906106292. 4

Question Number : 73 Question Id : 92090626899 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt 1o |y = 11 &1 e $ifem |

T 1 T 11
(A) e &=t 1) TEEE
(B) =78 (1) ITEs
(C) =i (I11) =1=9
(D) "= (IV) mea wem
feu v fasheqi 9 & @F I %=1 9949 $ifsw

1)  (A)-(II), (B)-(IIL), (C)-(IV), (D)-(I)
2 (A)-(ID), (B)-(I1D), (C)-(I), (D)-(IV)
3 (A)-(I), (B)-(I1), (C)-(IV), (D)-(11I)
4)  (A)-(D), (B)-(IV), (C)-(II), (D)-(I1T)

T

(
(
(
(

Options :

920906106289. 1
920906106290. 2
920906106291. 3
920906106292. 4

Question Number : 74 Question Id : 92090626900 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List I :

List I List II
(A) Ontogeny repeats phylogeny (I) Doctorine of teratology

(B) An abnormality is a reminiscent of (II) Doctorine of sequences
a remote anscestor

(C) Serial arrangement of organisms (III) Doctorine of association
depicting gradation in a trait

(I In a derived trait, the primitive (IV) Doctorine of recapitulation
condition 1s similar to ancestral
structure

Choose the correct answer from the options given below:

(1) (A)-(IV), (B)-(1), (C)-(11), (D)-(I1T)
(2)  (A)-(D, (B)-(I1D), (C)-aV), (D)-(I)
(3)  (A)-(D), (B)-ID), (C)-(I1I), (D)-(IV)
(4)  (A)-(ID), (B)-(IV), (C)-(ID), (D)-(I)

Options :

920906106293. 1
920906106294. 2
920906106295. 3
920906106296. 4

Question Number : 74 Question Id : 92090626900 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=t 15 w19 5= 11 &1 e $ife |

T Tl 11
(A) =afFage, faged Hi grev (1) foeamfasm #1 fagra
(B) FvEm=S fedt @O it & g@e (1) A5 & g
o1 HEE Bl &
(C) <fiat it F13spa =g, =1 foeft @gm  (110) = oF =1 fag=
% #uftehtor =i guidl 21
(D) Tt == @am % anfem fRafa, (V) TREd = fagma
qEsit T T T w2

few o fameqt 9 ® @ I %1 999 Sifav .

(1) (A)-(IV), (B)-(I), (C)-(II), (D-(III)
(2)  (A)-(1D, (B)-(II), (C)-(IV), (D)-(D
(3)  (A)-D), (B)-(ID), (O)-(IID), (D)-(IV)
(4)  (A)-I), (B)-(AV), (C)-(II), (D)-(D)

Options :

920906106293. 1
920906106294. 2
920906106295. 3
920906106296. 4

Question Number : 75 Question Id : 92090626901 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In the phylogeny depicted above,
(1) ‘AB’ and ‘CI)" are monophyletic at the level of Y.
(2) ‘AB and ‘CI) are paraphyletic at the level of Y.

() ‘ABCD are paraphyletic at the level of X.
{4) ‘ABCD are polyphyletic at the level of X.

Options :

920906106297. 1
920906106298. 2
920906106299. 3
920906106300. 4

Question Number : 75 Question Id : 92090626901 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FL gAY MY ATferged H,
(1) ‘AB @ ‘CD’, Y % & T Uhardgyd 8

(2) AR a9 ‘CD’, Y % & T Hegagydl &l
(3) ‘ABCD’, X & &R W HgamgyTdr gl
(4) ‘ABCD’, X % &R W Sgaaigadl #|

Options :
920906106297. 1



920906106298. 2
920906106299. 3
920906106300. 4

Question Number : 76 Question Id : 92090626902 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sepallata genes are considered essential for normal development of floral organs and

they are grouped under the category of homeotic genes.
(1) A genes (2) B genes
(3) D genes (1) E genes

Options :

920906106301. 1
920906106302. 2
920906106303. 3
920906106304. 4

Question Number : 76 Question Id : 92090626902 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= a3 % fawm & fou dveer i srevEs @99 9§ 3 T Eifafes

ElesiEd #uft = F-rid TR TR san &)

(1) A= (2) B4

(3) DS (4) E<f=
Options :

920906106301. 1
920906106302. 2
920906106303. 3
920906106304. 4

Question Number : 77 Question Id : 92090626903 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements ;

Statement 1 : According to binomial nomenclature rules, Rosa indicum, Solanum
indicus and Fuonymus indica are the valid scientific names.

Statement 11 : As Rosa, Solanum and Fuonymus represent neuter, masculine and
feminine genitive forms respectively, the specific epithets used are
appropriate.

In the light of the above Statements, choose the most appropriate answer from the

options given below :

(1) Both Statement I and Statement 11 are correct

(2) Both Statement I and Statement I1 are incorrect

(3) Statement I is correct but Statement 11 1s incorrect

(4) Statement 1 is incorrect but Statement II is correct

Options :

920906106305. 1
920906106306. 2
920906106307. 3
920906106308. 4

Question Number : 77 Question Id : 92090626903 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e g Fya feu o # .
wgd (I) : feue Amugfa & Fadl % I8N, 797 5599, Tici7d Slehd a1 F3ii779 551
ECEERICEI IR

&y (1) : a7, Fio77 AR F3HN-59 HA: T4 Fadt T966 T a9 g7 9 hl TgHid
+id & s\t w1 e mu fafse e 3taq 2

ST B % e A, 1 Ry e Rredt § @ T IugE SE w1 5w HI

() %% (1) 3R (1D <H =&l 2 |

(2) =¥ (D) 3R (I1) qH1 7Terd & |

(3)  =uA () 98l &, =i ®2F (1) o 2 |

() %5 (D) 7| 8, Tl wuA (1D 58l & |

Options :

920906106305. 1
920906106306. 2
920906106307. 3
920906106308. 4



Question Number : 78 Question Id : 92090626904 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT :

List I Last 11
(A) Plesiomorphy (I) A derived trait in an evolutionary series
(B) Symplesiomorphy (II) Possession of derived traits by a group
of taxa
{(C) Synapomorphy (IIT) An ancestral or primitive trait/character
(D) Apomorphy (IV) A group of taxa sharing a primitive trait

Choose the correct answer from the options given below:

(1) (A)-(T), (B)-(III), (C)-(IV), (D)-(II)
(2)  (A)-(IM), (B)-(IV), (C)-(II), (D)-(T)
(3)  (A)-(IV), (B)-(1I), (C)-(I), (D)-(I1I)
(4)  (A)-(I), (B)-(I), (C)-(I1I), (D)-(IV)

Options :

9209061063009. 1
920906106310. 2
920906106311. 3
920906106312. 4

Question Number : 78 Question Id : 92090626904 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=t 1% =y g= 11 &1 faem i

el 1 gl I
(A) HHET @) fawmad sEa § U Fea~ aau
(B) TaerAfmms (II) =i % U= T8 g Fea~ &0 H
(C) GTg-mETHl (I11) g1 & WTed 374aT A1y weqm
(D) A= (IV) @i &1 U% g & ATfeahref Torad
&1 | T Bl

feu u fosmedi & & € I =1 w34 HifAw -

(1) (A)-(I), (B)-(I1I), (C)-(IV), (D)-(1I)

(2)  (A)-(II), (B)-(IV), (C)-(I), (D)-(T)

(3)  (A)-(IV), (B)-(ID), (C)-(I), (D)-(III)

(1) (A)-(II), (B)-(I), (C)-(ILI), (D)-(IV)

Options :

920906106309. 1
920906106310. 2
920906106311. 3
920906106312. 4

Question Number : 79 Question Id : 92090626905 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT :

List I List 11
{A) Compositae (I'  Lamiaceae
(B) Umbelliferae (II) Brassicaceae
(C) Labiatae

(D) Cruciferae

(III) Asteraceae
(IV) Apiaecae

Choose the correct answer from the options given below:

(1)  (A)-1D, (B)-(I), (C)-(IV), (I)-(11I)
(2) (A)-(I), (B)-(I1I), (C)-(11), (D)-(IV)
(3)  (A)-AID, (B)-IV), (C)-(I), (D)-(1I)
(4)  (A)-(IV), (B)-(II), (C)-(I1D), (D)-(I)



Options :

920906106313. 1
920906106314. 2
920906106315. 3
920906106316. 4

Question Number : 79 Question Id : 92090626905 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt 15 a1 5=t 11 &1 faers $ife |
il T 11
(A) FHHEIfad @) i
(B) =l (II) sifaerst
(C) <ifawd (T1T) it
(D) wiE®d (IV) e
feu 7u faedl @ § wE I T 944 Hifaw

(1) (A)-(I), (B)-(D), (C)-(IV), (D)-(I1I)
(2) (A, (B)«(III), (C)-(II), (D)-(IV)
(3)  (A)-(I), (B)-(IV), (C)-(I), (D)-(1)
(4)  (A)-(IV), (B)-(1I), (C)-(I1I), (D)-(I)

Options :

920906106313. 1
920906106314. 2
920906106315. 3
920906106316. 4

Question Number : 80 Question Id : 92090626906 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with Last I1 :

List I List II
(Types of Stomata) (Family Tvpe)
(A) Anomocytic (I) Cruciferous type
(B) Anisocytic (I} Rubiaceous type
(C) Paracytic (IIT) Ranunculaceous type
(D) Daiacytic (IV) Carvophyllous type

Choose the correct answer from the options given below:

(1) (A)-(UI). (B)-(D), (C)-(II), (D)-(IV)
(2) (A, (B)-(III), (C)-(IV). (D)-(11)
(3)  (A)-(AD), (B)-(IV), (C)-(III), (D)-(T)
(4)  (A)-(IV), (B)-(II), (C)-(1), (D)~(I1I)

Options :

920906106317. 1
920906106318. 2
920906106319. 3
920906106320. 4

Question Number : 80 Question Id : 92090626906 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=t 13 @19 5= 11 &1 faem $ife |

il =T 1T

(T4 =1 9hH) (e = ThN)
(A) wiafra it = w9 (I) FHHHE THE
(B) 3maiIfiE TR Y (1) =feufaas TR
(C) wrhifyres T 9 (111) et aas THH
(D) TEHITTF THE Y (IV) SiFifrea 7R
feu U fowredi ® 9 9E 3T 1 994 Hifw

(1)  (A)-(I1D), (B)-1), (C)-(1), (D)-(IV)
(2) (A, (B)-(III), (C)-(IV), (D)-(11)
(3 (A)-ID), (B)-AV), (C)-(I1I), (D)-(I)
(4)  (A)-(IV), (B)-(ID), (C)-(I), (D)~(111)

Options :

920906106317. 1
920906106318. 2
920906106319. 3
920906106320. 4

Question Number : 81 Question Id : 92090626907 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Cystein rich peptide involved in pollen tube attraction in the micropylar region of
ovule in Arabidopsis.

(1) LeSTIG1 (2) LURESs
(3) GRP17 (1) SCAs
Options :

920906106321. 1
920906106322. 2
920906106323. 3
920906106324. 4

Question Number : 81 Question Id : 92090626907 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



wifas@ | e % gt &9 § T Tef s § wine faee § e e e
& R?

(1) LeSTIG 1 (2) LUREs
(3) GRP17 (4) SCAs
Options :

920906106321. 1
920906106322. 2
920906106323. 3
920906106324. 4

Question Number : 82 Question Id : 92090626908 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Poppy plant exhibits self incompatibility of type with as male,
and as female determinants.
(1) Gametophytic/SLF/S-RNase (2) Sporophytic/PrsS/SRK
(3) Sporophytic/SCR/SP11 (1) Gametophytic/Prps/PrsS
Options :

920906106325. 1
920906106326. 2
920906106327. 3
920906106328. 4

Question Number : 82 Question Id : 92090626908 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HEM T HT O YR =l . AGTA A H WE & Ty 9T q1ey
frais & wE E PRI G

(1) THFEHIE/SLF/S-Rnase (2) S=TEERE/PrsS/SRK
(3) wiemEefTe/SCR/SP11 (4) FUHIGIE/ Prps/PrsS

Options :

920906106325. 1
920906106326. 2
920906106327. 3
920906106328. 4



Question Number : 83 Question Id : 92090626909 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Parthenocarpy which arises due to mutations or hybridization is known as

(1) Environmental Parthenocarpy
(2) Genetic Parthenocarpy
(3)  Genetically Engineered Parthenocarpy

(4) Chemically Induced Parthenocarpy

Options :

920906106329. 1
920906106330. 2
920906106331. 3
920906106332. 4

Question Number : 83 Question Id : 92090626909 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR & IANEAT | I B T S-SR (6 A 3 T AW 27
(1) vEmEwiE ATFHe
(2) AT JfuEEAT
(3) ey sEhbE AEEe
(4) THENS 9§ ¥Ggq A-EEHE

Options :

920906106329. 1
920906106330. 2
920906106331. 3
920906106332. 4

Question Number : 84 Question Id : 92090626910 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List I :

List 1 List 11
(A) Ruminate Endosperm (I' Podostemaceae
(B) Absence of Double Fertilization (I) Lemna paucicostata
(C) Reduced embryos (1) Cocecoloba
(D) Operculate seed (IV) Orchidaceae

Choose the correct answer from the options given below:

(1)  (A)-(ID). (B)-(IV), (C)-(1). (D)-(I1I)
(2)  (A)-(III), (B)-(I), (C)-(IV), (D)~(II)
(3)  (A)-(D), (B)-(ID), (C)-(I1IT), (D)-(IV)
(1) (A)-(IV), (B)-(III), (C)-(II), (D)-(I)

Options :

920906106333. 1
920906106334. 2
920906106335. 3
920906106336. 4

Question Number : 84 Question Id : 92090626910 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=t 15 w19 5= 11 &1 et it |
il T 11
(A) =fdarg gomm (I) dremens
(B) fafaiem it arqufeafa (I) &= Filawieeer
(C) =aHE g (111) Fiicrar
(D) w==el e (IV) itk
feu T fasredi § @ @@ I &1 994 HifAu

(1) (A)-(D, (B)-(IV), (C)-(I), (D)-(I1I)
(2)  (A)-(II), (B)-(I), (C)-(IV), (D)-(1I)
(3)  (A)-(D), (B)-(IL), (C)-(I1I), (D)-(IV)
(4)  (A)-(IV), (B)-(11L), (C)-(II), (D)~(I)

Options :



920906106333. 1
920906106334. 2
920906106335. 3
920906106336. 4

Question Number : 85 Question Id : 92090626911 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The main function of kinetochores in cell division is to provide the site of attachment

for

(1) Centromere (2) Microtubules
(3 Nucleus (4) Telomere
Options :

920906106337. 1
920906106338. 2
920906106339. 3
920906106340. 4

Question Number : 85 Question Id : 92090626911 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HITTHT fauTem § HIgmR F1 =3 FE % HATSH o o0 T 9 H1 2
(1) e (2) W

(3) F=F (4) TR

Options :

920906106337. 1
920906106338. 2
920906106339. 3
920906106340. 4

Question Number : 86 Question Id : 92090626912 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The active form of Phytochrome is

|: 1} Pr’a- {-’H Pa
r,::'ﬂ F|:u' {_1} Rp
Options :

920906106341. 1
920906106342. 2
920906106343. 3
920906106344. 4

Question Number : 86 Question Id : 92090626912 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIE2Ieh M 1 AlHT T &

(1} Pr‘: {-"} P:

(3) Fpr 4) Rp
Options :

920906106341. 1
920906106342. 2
920906106343. 3
920906106344. 4

Question Number : 87 Question Id : 92090626913 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most important auxin present in higher plant is

(1) IAA (2) 4-CI-IAA
(3) IBA (4) 2,4-D
Options :

920906106345. 1
920906106346. 2
920906106347. 3
920906106348. 4

Question Number : 87 Question Id : 92090626913 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

I=a 91 & WYl § IR A 9T Jad JEcqul iR 8

(1) IAA (2) 4-Cl-IAA
(3) IBA (4) 2,4-D
Options :

920906106345. 1
920906106346. 2
920906106347. 3
920906106348. 4

Question Number : 88 Question Id : 92090626914 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Oxidation of H=0 to produce O: is performed by

(1) P51 in thylakoid (2) PSI1Iin thylakoid
(3 PS 1 in stroma (4) PS1I in stroma
Options :

920906106349. 1
920906106350. 2
920906106351. 3
920906106352. 4

Question Number : 88 Question Id : 92090626914 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT 309 A b ToTd el ol HATFHTH 2 ToRar = 21
(1) orsei=nigs ¥ PS 1 (2) aEeREE § PSII

(3) ifesw ¥ PS1 (4) ifssw 4 PS1I
Options :

920906106349. 1
920906106350. 2
920906106351. 3
920906106352. 4



Question Number : 89 Question Id : 92090626915 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion (A) and the other is
labelled as Reason (R) :

Assertion (A) : Positive xylem pressure causes exudation of sap through
hydathodes, a process called guttation.

Reasons (R):  Guttation is noticed when transpiration is suppressed and relative
humidity is high.

In the light of the above Statements, choose the correct answer from the options
given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3 (A) 1s true but (R) 1s false

(4) (A) 1s false but (R) is true

Options :

920906106353. 1
920906106354. 2
920906106355. 3
920906106356. 4

Question Number : 89 Question Id : 92090626915 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g1 HYA feu U # : v AMHHUA (Assertion A) % ®9 # fafad 2 91 gEu 396 HRw
(Reason R) & &9 ¥ :

FLE (A) : 15T TF F FHAT ARl G T & Waed $I UEHAT & f69g 719 Fad 2

T (R) : 5| ATHIESH g BT 8 A HYE HATadl I9d Bl @ d fag || I
ST 8l

IR HIA o ATE® H, 19 oy 70 fohedi § 8§ H9Y 39 3T I 994 i

(1) (A) 3R (R) gFi &t & 3R (R), (A) i =& =are 2 |

(2) (A) 3 (R) T &2 &, A (R), (A) 1 wE1 =3mea 74 21
(3) (A= B, wfE (R) el T 2|

(1) (A) 5 =2 2, A (R) 541 2

Options :

920906106353. 1
920906106354. 2
920906106355. 3
920906106356. 4

Question Number : 90 Question Id : 92090626916 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Blue light elicits following responses for plants

(A) It stimulates asymmetric growth
(B) Inhibits stem elongation

(C) Stimulates stomatal opening

(I}  Deactivates proton pump

(E) Stimulates bending of stem

Choose the correct answer from the options given below :

(1) (A), (B), (C) only (2) (A), (C), (D), (E) only
(3) (A, (B), (C). (E) only (4) (A), (E) only
Options :

920906106357. 1
920906106358. 2
920906106359. 3



920906106360. 4

Question Number : 90 Question Id : 92090626916 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

freft seRrer dtdi = for fe st 3e= e -
(A) ¥& FEEHA ghg I IgaHa Sl &l

(B) @4 % wa oI Hufaa w3 21

(C) 9 % GoiH I 3Igiud il 2|

(D) wiEM 99 =i Fferg = 21

(E) @ % g %I 3gEiTa &l &l

= feu e fomredl § & H9H 39gE 39T 1 994 HIT

(1) == (A), (B), (O) (2) FFE (A), (O). (D), (E)
(3) ad (A), (B), (C), (E) (4) Fa6 (A), (E)
Options :

920906106357. 1
920906106358. 2
920906106359. 3
920906106360. 4

Question Number : 91 Question Id : 92090626917 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sucrose, a transportable form of carbon and energy in most plants, is synthesized in

(1) Chloroplast (2) Cytosol
(3) Mitochondria {4) Endoplasmic reticulum
Options :

920906106361. 1
920906106362. 2
920906106363. 3
920906106364. 4

Question Number : 91 Question Id : 92090626917 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

iferpier Fei & ST qUT ST B IR §9 G % Hyreita g 27
(1) whaeas (2) wEEE
(3) WSS (4) wSr=tET tepem

Options :

920906106361. 1
920906106362. 2
920906106363. 3
920906106364. 4

Question Number : 92 Question Id : 92090626918 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the enzyme involved in catalysis of substrate-level photophosphorylation in
citric acid cycle.

(1) Aconitase (2) Succinate dehydrogenase
(3 Succinyl — CoA svnthetase {(4) Fumarase
Options :

920906106365. 1
920906106366. 2
920906106367. 3
920906106368. 4

Question Number : 92 Question Id : 92090626918 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafes ufte =% § O T & TN BICHARCYH ®I 30id $ § WHd TAH H1
T |

(1) weifed (2) w-e SeEsifag

(3) wHAE - CoA fade= (4) FEHE

Options :

920906106365. 1
920906106366. 2
920906106367. 3
920906106368. 4



Question Number : 93 Question Id : 92090626919 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct statements regarding Gibberellins.

(A) All GAs possess a tetracyclic ent-gibberellane skeleton

(B) GA biosynthesis inhibitors (Cycocel) help reducing plant stem length and
lodging

(C) GAs are diterpenoids
(D)  GA biosynthesis occurs in cytoplasm

(B} GA is synthesised in the aleurone layver of embrvo

Choose the correct answer from the options given below :

(1)  (A), (B), (C) only (2) (A), (B), (C), (D) only
(3) (A, (B), (C). (E) only (4) (A). (B), (D), (E) only
Options :

920906106369. 1
920906106370. 2
920906106371. 3
920906106372. 4

Question Number : 93 Question Id : 92090626919 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



foreitferg & defua w2t 91 %1 =91 Fifau:

(A) =t GA T U IavEshl Uz-Taere Sheted 2T 2|

(B) GA 919 gy Fus (Cycocel) T8 & o+ 1 &&E 921 904 &l S &4 §
HETH B &

(C) GA sEAUEEE B &
(D)  GA FT ATEIIY FZIATSH § BT &
(E) GA =1 g9y o1 i Teglq a8 § g 2|

= fou v faehedi § & T8 39w I H T HIfAC

(1) =& (A), (B), (C) (2) == (A), (B), (C), (D)
(3) =ad (A), (B), (0), (E) (4) A (A), (B), (D), (E)
Options :

920906106369. 1
920906106370. 2
920906106371. 3
920906106372. 4

Question Number : 94 Question Id : 92090626920 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements ;

Statement 1 : The cuticle coats the outer cell walls of the epidermis on the aerial
parts of plants and help reducing water loss and entry of pathogens.

Statement II : Cuticle is made up of cutin and wax which are hydrophobic and
difficult to degrade.

In the hght of the above Statements, choose the correct answer from the options
given below :

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement 11 are false

(3 Statement I 1s true but Statement 11 is false

(4) Statement 1 1s false but Statement 11 is true

Options :

920906106373. 1
920906106374. 2
920906106375. 3
920906106376. 4



Question Number : 94 Question Id : 92090626920 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T g FuA g

F94 (1) : Y % JF 9F § e i el S fuld W giewa wa widl 21 98
B I LT WMHAT & it 37 i U § T Hdl 2|

FoA (II) . Ffeher, e 791 999 § &1 8ia1 ¢ 91 Jonaudl g & a91 36 Fisea
AT oA &l

3T I o A 5, A= U U fomedi § 8§ G99 I9gF IT FH FTH I :

(1) &= ()3 (D) SH TF & |

(2) = (1) 3 (II) gH1 3= & |

(3)  wU= (D) 99 &, AT e (1) 353 21

(4) % () 38 8, eifd w2 (1) &9 2 |

Options :

920906106373. 1
920906106374. 2
920906106375. 3
920906106376. 4

Question Number : 95 Question Id : 92090626921 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with Last I1 :

Last [ List IT
Enzymes Reaction Catalysed
(A) Nitrate reductase (I) Conversion of 1 — aminocyelo
propane-1-carboxylic acid to
ethylene
(B) Alternative oxidase (II) Conversion of citrate to isocitrate
(C) Aconitase (IIT) Reduction of oxygen to water
(D) ACC Oxidase (IV) Conversion of nitrate to nitrite

Choose the correct answer from the options given below:

(1) (A)-IV), (B)-(I1D), (C)-(II), (D)-(T)
(2 (A)-), (B)-(IV), (C)-(I), (D)-(1I)
(3)  (A)-1D, B)-(1), (C)-(IV), (D)-(11)
(4)  (A)-II). (B)-(ID), (C)-(I), (D)-(IV)

Options :

920906106377. 1
920906106378. 2
920906106379. 3
920906106380. 4

Question Number : 95 Question Id : 92090626921 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt 1% a9 Fq=i 11 =1 e $ifsu

Ccill! = 11
TATEH et st
(A) =gz frewda (I) 1-3pfEEFAN- 1 SEiFaes A
o1 Uit 0 ufEaq
(B) <ehfcus ATediss (IT) ®1Ede 1 FATZHEEECE § qiads
(C) u=iATEe (I1T) AT 1 oed | 39934
(D) wifages (IV) A15ge =1 A15g18e | qitad
feu mu fasmredt & & wE I+ 954 HifAw

(1)  (A)-(IV), (B)-(I1I), (C)-(II), (D)-(I)
(2)  (A)-I)., (B)-(IV), (C)-(I1T), (D)-(IT)
(3)  (A)-(aD, (B)-(D), (C)-(IV), (D)-(I1I)
(4)  (A)-(II), (B)-(IL), (C)-(1), (D)-(IV)

Options :

920906106377. 1
920906106378. 2
920906106379. 3
920906106380. 4

Question Number : 96 Question Id : 92090626922 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Concept of totipotency in plant was demonstrated by

(1) CV Raman (2) T.Morgan
(3) G Haberlandt (4) EC Cocking
Options :

920906106381. 1
920906106382. 2
920906106383. 3
920906106384. 4

Question Number : 96 Question Id : 92090626922 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) =t &t (2) & "itH
(3) S gewlE (4) 3 i Sifepm
Options :

920906106381. 1
920906106382. 2
920906106383. 3
920906106384. 4

Question Number : 97 Question Id : 92090626923 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

First report of haploid production was in

(1) Brassica (2) Mangifera
(3) Arabidopsis (4) Datura
Options :

920906106385. 1
920906106386. 2
920906106387. 3
920906106388. 4

Question Number : 97 Question Id : 92090626923 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FgS 397 6T gyy fure T o

(1)  #Esr () Fhea

(3) wifgsiEg (4) &g
Options :

920906106385. 1
920906106386. 2
920906106387. 3
920906106388. 4

Question Number : 98 Question Id : 92090626924 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Arrange the following steps in E.coli translation sequentially.

(A) Elongation

(B) Release of polypeptide

(C) Initiation

(D)  Folding of the polypeptide

(E) Termination

Choose the correct answer from the options given below :

(1)  (B), (C), (D), (A), (E) (2) (A), (D), (E), (C), (B)
(3)  (O), (A), (E), (B), (D) (4) (A, (B), (C), (D), (E)
Options :

920906106389. 1
920906106390. 2
920906106391. 3
920906106392. 4

Question Number : 98 Question Id : 92090626924 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

§ e wiT T § it il o w1 Feeg S

(A) g

(B) dici2rsg =1 9=
(C) wmoy

(D) dTeAI2rEe =l 9o
(E) @A

= feu mu faeredi O 9 W 39T ST H 994 i

(1) (B), (C), (D), (A), (E) (2) (A), (D), (E), (C), (B)
(3)  (C), (A), (E), (B), (D) (4) (A). (B), (C), (D), (E)
Options :

920906106389. 1
920906106390. 2
920906106391. 3
920906106392. 4



Question Number : 99 Question Id : 92090626925 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bacterial artificial chromosomes (BAC) are capable of cloning fragments upto

(1) 500-750 kb (2) 200-250 kb
(3) 50-150 kb (4) 300-350 kb
Options :

920906106393. 1
920906106394. 2
920906106395. 3
920906106396. 4

Question Number : 99 Question Id : 92090626925 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sframy G RE (3 T ) FATIT @UST I FAI-T FH ° TEH B 2
(1)  500-750 F=ft. (2) 200-250 e,
(3)  50-150 . (4) 300-350 s,

Options :

920906106393. 1
920906106394. 2
920906106395. 3
920906106396. 4

Question Number : 100 Question Id : 92090626926 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List T with List I :

List I List 11
{(A) Clonal propagation (' Menstem culture
(B) Virus free plant (IIY Cell line culture in a bioreactor
{(C) Haploid plant production (IIT) Axillary bud

(D) Secondary metabolite production (IV) Anther culture

Choose the correct answer from the options given below:

(1) (A)-IV), (B)-(I), (C)-(II), (I-(11I)
(2) (A, (B)-(IID), (C)-(AV), (D)-(I)
(3)  (A)-(ID), (B)-(IV), (C)-(I1D), (D)~(T)
(4) (A1), (B)-(I), (C)-(IV), (D)-(1I)

Options :

920906106397. 1
920906106398. 2
920906106399. 3
920906106400. 4

Question Number : 100 Question Id : 92090626926 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=t 15 &g 5= 11 &1 e it |
el 1 g 11
(A) FEFS TEHT (I) Tao=gas dagq
(B) TE T WIed (I) EHETHUFR ° HIfGER @5 G944
(C) =Fford 9Tey IemeA (ILT) =efta =fersr

(D) fedfas sa=a+ 39T (IV) W a4
fen 7u fommedl  § HE I F1 TG HifA0 -

(1) (A)-OV), (B)-I), (C)-(II), (D)-(11I)
(2)  (A)-0), (B)-(ID, (C)-(IV), (D)-(II)
(3)  (A)-(D), (B)-(IV), (C)-(11L), (D)-(I)
(4)  (A)-(IID), (B)-(D), (C)-(IV), (D)-(1I)

Options :
920906106397. 1



920906106398. 2
920906106399. 3
920906106400. 4



